SN SEEHY
HH: #ALCH
CIel: ASEHEN SAMN

o o

S(sFES/BADS AN
e

(29 &2

SZ3FML 47,631,906 52,794,467 A5, 162,561
= 25,973,555
= 4,804,000
= 16,854,351
I+ AHE(BAES/8PEsYE) 4,377,460 4,105,320 272,140
= 1,245,000
= 3,132,460
ASEARN SHHMFE FH 4,377,460 4,105,320 272,140
= 1,245,000
L= 3,132,460
ZAEF A 41,000 40,000 1,000
201 ¢EH2EH| 37,000 36,000 1,000
01 AIR221H] 4,000 3,000 1,000
OHAIRIY ¢ 4,000
03 A2l 33,000 33,000 0
O=&X EEZA M 5 ZHSAUY 2 33,000
301 ¢EtE A= 4,000 4,000 0
10 AMAHIENS 4,000 4,000 0
OSHAA B4 4,000
NGOt Et MGt 8l #F 160,000 160,000 0
307 2i2tol & 150,000 150,000 0
02 UAFAEX 150,000 150,000 0
OHFLY21 s 2< 140,000
OZHEF U=\ UERD 29 10,000
308 XX A S0l A 10,000 10,000 0
01 AXSHHBLEES 10,000 10,000 0
OMoE X&Itsed 2AUS 10,000
SSO0tAIOH 2 HES E=H 38,500 16,600 21,900
201 €23 H| 31,000 0 31,000
03 A2 31,000 0 31,000
OS=0t HAHSINEZZ 0 Mzl 31,000
310 =2I01™ 7,500 7,500 0
02 =HRE3 7,500 7,500 0
os32H IMEYs BEZ 7,500
EHHHAAAE(EMS) 2 14,000 14,000 0
201 LE2EH| 14,000 14,000 0
01 AFR 22l bl 14,000 14,000 0
OEZIIANAY 2Y 14,000
RS SUIUH R+2M A& 3,000 0 3,000
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3,000

303 242
01 Za=s 3,000 0 3,000
O=MFE 7 248 3.000
LRASMSATAUE (VI AFNR) 100,000 100,000 0
307 Q1201 & 100,000 100,000 0
02 L2HAEE 100,000 100,000 0
oU=MBAX A 100,000
AtS| BB NS23(=0) 342,200 342,200 0
= 240,000
=S 102,200
307 g12+0l ™ 342,200 342,200 0
= 240,000
S 102,200
2 A2FAEBx 342,200 342,200 0
OME ggdus o=z 57,200
= 40,000
= 17,200
OXAH AN = 285,000
= 200,000
=3 85,000
SHF2VRES A;HIE W 2,215,400 2,176,700 38,700
308 AXIHHMSOIH 2,215,400 2,176,700 38,700
RE+NFES 2,215,400 2,176,700 38,700
osANLRES & 1,701,900
oHERIZ W+ 0¥ 13,500
OFEMNERES ¥ 500,000
g2e S3¥E el 208,360 55,820 152,540
202 O1H] 62,760 32,820 29,940
01 I AHI 32,760 32,820 260
OBAJFUSOF P2 % 6,760
OB AN YRXX 26,000
04 = H 01 H 30,000 0 30,000
odfelR 48 30,000
203 R F A 70,000 8,000 62,000
03 Al F=RQI 2| 70,000 8,000 62,000
ostdYS -0 20,000
ONEHA SMHFAIY XX 20,000
OSMIIRAS0F ZEAY =7 20,000
OsAFMIY PRF 5,000
OLNSH ABASIAIY XX 5,000
204 B2 LAY 72,600 0 72,600




A BHEHY
Y g3 AL (SIS /2EES
=

Sl ASEHAN S

72,600
50,0002 #1212« 128 72,600
3,000 3,000 0
3,000 3,000 0
SI2s &M 3,000
1,250,000 1,200,000 50,000
= 1,000,000
= 250,000
307 212+0| 50,000 0 50,000
02 SIAAMEE 50,000 0 50,000
OBABAME (SEINEE - 2AE)2 50,000
403 XX EHH S X201 & 1,200,000 1,200,000 0
= 1,000,000
< 200,000
01 XIS 22 X 1,200,000 1,200,000 0
oM e KLRRAME AHY 1,200,000
= 1,000,000
= 200,000
HEASHOYAIAH(2D) 5,000 0 5,000
= 5,000
403 XX EHHI S X201 & 5,000 0 5,000
= 5,000
01 XX SHMAHE 2 X 5,000 0 5,000
0TS STOHJAIAE XA 5,000
= 5,000
MEA mMEY TM(HYSS/BB2EUY) 315,760 14,266, 160 13,950,400
= 150,000
< 165,760
HE A =MEF TP 15,760 17,000 21,240
YACH =MET £ 15,760 17,000 A1,240
201 QEr2 S| 9,000 9,000 0
01 ALRZ2IY| 9,000 9,000 0
O=MST SRS 2Y 9,000
OS2 &uay 4,200
O%I”sl aHlRy 2,940
O#A U AIRBEY| 1,860
202 OfHl 6,760 8,000 A1,240
01 2LHoIHI 6,760 8,000 A1,240
O=MBZ20F YREA 6,760
HEA SMTA 24 300,000 14,249, 160 13,949, 160
= 150,000
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SN BRIYUD
HE: NEA SMESY X4 (BFRE/BBBSYY
Sl REA SMEAl T4

| @
2
o

S 150,000
gZ2ge ¥ (20) 300,000 0 300,000
= 150,000
S 150,000
207 A 2N 300,000 0 300,000
= 150,000
S 150,000
01 23EAH| 300,000 0 300,000
OEE EJ=8IL SEIHH +H 300,000
= 150,000
[ 150,000
Uoled 2d(8#dE5/U01) 537,567 485,360 52,207
= 464,575
= 72,992
QEHEA L 2L 537,567 485,360 52,207
= 464,575
£ 72,992
SEJHAZANHA F=E(21) 30,113 56,062 225,949
= 20,075
= 10,038
307 2I1Ztol & 13,644 13,650 A6
= 8,186
< 5,458
02 ZtABAE X 13,644 13,650 A6
OZ=XNsEFIJ| 2&2cldl N 13,644
= 8,186
[ 5,458
402 12t H=201 & 16,469 42,412 225,943
= 11,889
S 4,580
01 22 REEx 16,469 42,412 225,943
O==NSEEIII WA 16,469
= 11,889
& 4,580
LHEH HIEANE 22 28,034 21,480 6,554
202 04 Hl 13,000 11,000 2,000
01 SUHAHI 13,000 11,000 2,000
OHE2A N=dHE E UFYRFA 13,000
206 M 2l 500 500 0
01 =z Hl 500 500 0
O+ NEMHE 2 500
301 etEAS 3,500 3,500 0
10 @AMAHIBa =S 3,500 3,500 0
ORIZIIEXNE HAIHIE 4 3,500
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SA:

=R

e9l:

SR

Uolgzd 2d(8g32s/001)
QEEANL 2L

o
40
rio

308 XX EHRI SOl ® 11,034 6,480 4,554

01 IXISHHBAEES 11,034 6,480 4,554
oMU PHS0 SHESS X2 11,034

$CAL QALRAXIY HIINAE A (Z1) 325,920 404,318 78,398
= 291,000
[ 34,920

403 XX SHHS K201 ™ 325,920 404,318 AT78,398
= 291,000
[ 34,920

01 AXSHH 2T 325,920 404,318 AT78,398
OFYY M=AHH DAHEXIH X 325,920
= 291,000
[ 34,920

SFQAAANME 29(21) 3,500 3,500 0
= 3,500

301 LetE A3 3,500 3,500 0
= 3,500 |

10 #AIAH I BAS 3,500 3,500 0
ORIZESHZ DI2t01 MY P4 3,500
= 3,500

SHHYTAIL XX (2D) 150,000 0 150,000
= 150,000

403 X SHH S X201 ™ 150,000 0 150,000
= 150,000

01 AIXISHHMAEEE 150,000 0 150,000
OAHLXIAIE XX 150, 000
= 150,000

MBS WL(BFES/HIIS) 22,922,429 18,532,087 4,390,342
= 14,806,980
[ 8,115,449

MEH HIIZ2 X2 2,920,529 1,651,387 1,269,142
= 2,413,980
[ 506,549

& ¥ SHRMYD HEH(=D) 519, 143 500, 100 19,043
= 460,000
[ 59, 143

403 XX SHH S XH20I & 519, 143 500, 100 19,043
= 460,000
[ 59, 143

01 AXSHHMRELE 519, 143 500, 100 19,043
O5td %L st7MY | H3a 519, 143
= 460,000
[ 59, 143

Holee etyA Hel 325,500 496,500 A171,000
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I
M MEEY HA(BZES/HIIE)
D MEY Holg EEXeal

202 Ol 8,500 8,500 0
01 =W ol 8,500 8,500 0
OXB=§ HAG FRFX 8,500
308 XX EtHI SO0l ™ 317,000 488,000 171,000
01 XN EES 317,000 488,000 A 171,000
OZRAEZZANU 29 317,000
Hs2&JI8 +HAMLAMY BES(INEXLH) 70,906 65,287 5,619
403 XXM S X201 & 70,906 65,287 5,619
02 S 2SS AL HI 70,906 65,287 5,619
osablY, SAF =HMY EE3 70,906
Ao SEUHA(=21) 1,798,280 382,800 1,415,480
= 1,747,280
= 51,000
403 Tt XIHMEX201H 1,798,280 382,800 1,415,480
= 1,747,280
== 51,000
01 X EMA=2EE 1,798,280 382,800 1,415,480
© =®£H0E Heltl N 1,577,280
= 1,577,280
© £dU0IE AEE HETAHI XA 221,000
= 170,000
= 51,000
SEHHEY MelAg(=22) 206,700 206,700 0
= 206,700
308 XXM SOIE 206,700 206,700 0
= 206,700
01 IXSHHILEES 206,700 206,700 0
OsZHHIE =Hd K& 206,700
= 206,700
HOIEMCIANLEES 18,974,400 16,671,800 2,302,600
= 11,743,000
= 7,231,400
JIEFMEID] MelAle &X1(=1) 13,681,400 5,110,200 8,571,200
= 8,346,000
= 5,335,400
403 Tt XIHHMS X201 A 13,681,400 5,110,200 8,571,200
= 8,346,000
< 5,335,400
01 AXI&HMA2E2x 13,681,400 5,110,200 8,571,200
OFXCIANE &X 2,817,000
= 1,464,000
= 1,353,000
OMgJl HEAE £X 9,462,400

—549-




2H:

LR

£l

25/HIE)

)
I 0N
fob

5.888.000

EERED

=
= 3,574,400
OIS X HH| 1,402,000
= 994,000
g 408,000

SOEHIISHRIAL &X(22) 1,822,000 1,875,000 53,000
= 1,298,000
= 524,000

403 X SHS K= A 1,822,000 1,875,000 53,000
= 1,298,000
= 524,000

01 X SHXELEE 1,822,000 1,875,000 53,000
OS0EHIIZ HelAM 1,822,000
= 1,298,000
= 524,000

DTTWEEIIGAIL =H5(2D) 3,471,000 4,066,400 595,400
= 2,099,000
= 1,372,000

403 XX EHXI S KH2OI & 3,471,000 4,066,400 595,400
= 2,099,000
< 1,372,000

01 HXSHHRELT 3,471,000 4,066,400 595,400
OMEB XSS+ ME HX| 3,471,000
= 2,099,000
= 1,372,000

HASTSO LA TS 194,500 180,000 14,500
= 160,000
[ 34,500

NHEBHFH FOIALHT 194,500 180,000 14,500
= 160,000
T 34,500

403 XIS SKHROIR 194,500 180,000 14,500
=2 160,000
= 34,500

01 HXSHRZ LT 194,500 180,000 14,500
ONUEBZFE 0l ALHX 194,500
= 160,000
& 34,500

SMNESEH AL 25 833,000 28,900 804,100
= 490,000
= 343,000

SASHMYI| BTHIIVAL ASAL 833,000 28,900 804,100
= 490,000
= 343,000

403 RIS HSKHROI R 833,000 28,900 804,100
= 490,000
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SA: BRI
Hu: MBS HM(BZES/HIIS)
B9 SASEYM JIPAE 1S il

343,000
01 RXISH A2 EE 833,000 28,900 804,100
OSASBMYI STH IILAIL(RFID)EX 833,000
= 490,000
= 343,000
Nl RN (BZ RS/ 11,137,633 9,872,193 1,265,440
=2 3,493,000
= 4,804,000
= 2,840,633
ToIEH B Y AL 25 9,784,700 8,861,860 922,840
= 2,660,000
z 4,804,000
= 2,320,700
N SASH OIBAIL(2D) 6,245,200 5,352,100 893,100
= 4,804,000
= 1,441,200
403 XEXI SRS KH2 01 & 6,245,200 5,352, 100 893,100
z 4,804,000
= 1,441,200
01 RXISH 2T 6,245,200 5,352, 100 893,100
OUS YESEH MEBR =4 3,313,700
= 2,549,000
= 764,700
OHY SZHSMHTD S8 o SY2 =4 747,500
= 575,000
= 172,500
OB BIAAASSARX =8 1,040,000
= 800,000
< 240,000
O DNZOFALSSMENZ A 910,000
= 700,000
= 210,000
O DIZD)| TAIZ &5 234,000
z 180,000
& 54,000
SIEOMZBSNBEA DET2 I3 (2D) 300,000 0 300,000
= 200,000
] 100,000
308 XX SRS O 300,000 0 300,000
= 200,000
= 100,000
01 RXSHILREES 300,000 0 300,000
© BIEWNHIMYSH NKT2IY XY 300,000
= 200,000
= 100,000
LR RS 308,500 376,760 168,260
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Hw:

eel:

BRI
RSB (BYRE/XN)
Xoe BE L AL &5

202 01l 8,500 6,760 1,740
01 2401l 8,500 6,760 1,740
OXIISAS0F P2 XX 8,500
307 RI2HOI A 150,000 150,000 0
05 QIZtgIEr 2 150,000 150,000 0
oXtistEsd 2 150,000
308 XHXISHHISOI A 150,000 100,000 50,000
01 RXISHRIZAEE2 150,000 100,000 50,000
OUSHMSUE MHABLENY 22 100,000 | -
OABIAR MHIBEHXY 2 50,000
2OIME 2SR T4(2D) 1,320,000 1,440,000 £120,000
= 1,100,000
[ 220,000
403 X XISHHS K20 A 1,320,000 1,440,000 £120,000
= 1,100,000
[ 220,000
01 X SHRIXH=2E X 1,320,000 1,440,000 £120,000
oge NIZBXY = 600,000
= 500,000
= 100,000
Osd ME2sEYR 180,000
= 150,000
= 30,000
oYL MEE4H MY 300,000
= 250,000
[ 50,000
OoH ME2sIEYE 240,000
=2 200,000
= 40,000
MZLE DEEEXA(21) 1,611,000 1,693,000 A82,000
= 1,360,000
[ 251,000
308 XHXI SHHI SOl & 260,000 0 260,000
= 200,000
S 60,000
01 I SHRIBAEED 260,000 0 260,000
ODMZ MEHH DSEEAY 260,000
= 200,000
[ 60,000
403 Xt XIS SXHE0IH 1,351,000 1,693,000 £A342,000
=2 1,160,000
[ 191,000
01 KX SRR B X 1,251,000 1,693,000 A442,000
OMZ MEfESIZR X4 1,251,000

—-552-



2N SRR
HE: (SR (BRLS/X0)

B NHEA B8 2 AL 25

170,000

= T

< 141,000

02 BI| 2SO CHEHCHE AL b 100,000 0 100,000
ODMZ 60F Il A 100,000
= 50,000
= 50,000

OHMS - A2 25 22 1,352,933 1,010,333 342,600
= 833,000
= 519,933

T EIn)) 729,600 480,000 249,600
= 608,000
= 121,600

403 XHXI M SXH2OI & 729,600 480,000 249,600
= 608,000
= 121,600

01 RNSHR 22 = 729,600 480,000 249,600
OOHMSZ TIaHolY 729,600
= 608,000
= 121,600

MEOYY 22 XR(22) 73,333 73,333 0
=2 50,000
- 23,333

403 XHXI M SXH2OI & 73,333 73,333 0
= 50,000
=3 23,333

01 RRISHRIXH2 2 & 73,333 73,333 0
OMBLIAY BNt 73,333
= 50,000
= 23,333

OHMEE IXB2IME 29(2D) 250,000 175,000 75,000
= 75,000
< 175,000

307 QI2+0I & 250,000 175,000 75,000
= 75,000
= 175,000

02 Bt A EE 250,000 175,000 75,000
OOMSE RXeIME 250,000
= 75,000
= 175,000

MEXYBE SHHH(ZD) 100,000 80,000 20,000
= 100,000

403 XHXI M SKH2OI R 100,000 80,000 20,000
= 100,000

01 RXISH X2 2 = 100,000 80,000 20,000
oSHE =4 100,000
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2A:

g

£l

BRI
T SRR (BY LS /T
OME - N2 25 22

m
P
o

= 100,000
O £ - A2 E¥5 200,000 202,000 22,000
308 KX R SOIA 200,000 200,000 0
01 IXISHHBAEERS 200,000 200,000 0
OOMSE a4 X 200,000
IISFHEY FX(SULE/BABE5UY) 7,621,500 4,271,500 3,350,000
2 5,814,000
= 1,807,500
JlZHE g = 7.621,500 4,271,500 3,350,000
3 5,814,000
=3 1,807,500
SR SHIUSARME X 720,000 800,000 280,000
306 012 720,000 800,000 £80,000
01 &Eoi2 720,000 800,000 £80,000
OS2I |S2HSHSATHE 2% X 720,000
Rl HEX =2 8,500 16,000 A7,500
202 04 b 8,500 10,000 £1,500
01 2L 0IH| 8.500 10,000 21,500
OJIZHE Y YRFZ 8,500
JBEENE Y VMK (2 D) 6,052,000 3,056,000 2,996,000
2 4,973,000
=S 1,079,000
201 LS| 8,000 8,000 0
= 4,000
= 4,000
01 AR 2l 8,000 8,000 0
OD@2lH ¥4 ¥ JRIAEE 28 5% 8,000
= 4,000
& 4,000
207 &1 T 200,000 500,000 £300,000
2 100,000
& 100,000
01 iR gH| 200,000 500,000 £300,000
OS2t J15Hs 2LIHE 200,000
= 100,000
(= 100,000
303 &2 13,000 0 13,000
2 6,500
3 6,500
01 Z&Z 13,000 0 13,000
OSMMENN SEAZ Al 13,000
2 6,500
= 6,500
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SN sRFHY
HM: J|SHBIY XA (2ALS/BALSAY
S J|EHE 012 XA (cre ®E)

307 212+0| ® 131,000 126,000 5,000
= 65,500
= 65,500
02 QIAFHBE 131,000 126,000 5,000
OIRL(IRAEE) #S X 60,000
= 30,000
= 30,000
OIRAEIE 25 9ZAs RS =W 5,000
= 2,500
= 2,500
0IISHENE 5Y 29 66,000
= 33,000
= 33,000
308 XEXI A SOl & 382,000 122,000 260,000
= 352,000
= 30,000
01 RXISHEABES 382,000 122,000 260,000
OIIEXXAM DRI (DBAEE) S X 102,000
= 102,000
OJIENRA IS HS (& 48 60,000
= 50,000
< 10,000
©01BSH ST HHXS JISL2 5T Al(cop)
olE =X 120,000
= 100,000
= 20,000
OMEAERAA OHIE F& A 100,000
= 100,000
403 KX EHH S K20 ® 5,318,000 2,300,000 3,018,000
= 4,445,000
= 873,000
01 XX SRR =2 X 5,318,000 1,300,000 4,018,000
©JIEE B2 AY 4,278,000
= 3,565,000
=] 713,000
ORAIIA AE ABAYE A& Ha 30,000
= 30,000
OEAKIZ RYRIX X4 960,000
= 800,000
= 160,000
o242 2= HEIIP &1 50,000
= 50,000
2aJtA B2l 2He RH(31) 75,000 70,000 5,000
= 75,000
403 XHXISHRIS KHROI R 75,000 30,000 45,000
= 75,000
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S SR
Xz jl 9H:Hx =X |(§%E§/§%E§%P—")

01 XX M= 75,000 30,000 45,000
OTJIIZ 2ANNA LHAY 75,000
= 75,000

BAIIZNE BASY Z2I3(2D) 621,000 179,500 441,500
= 621,000

403 XIS HSKHZOI R 621,000 179,500 441,500
= 621,000

01 XS E R E 621,000 179,500 441,500
OBt YR LU £X 621,000
= 621,000

EBAHQEN 2Y(21) 145,000 150,000 5,000
= 145,000

308 XtXI M SOI H 145,000 150,000 25,000
= 145,000

01 RHXSHBL ST 145,000 150,000 5,000
OBAZQEH 29 145,000
= 145,000

TR SEX Do (HI2S/HYBSUL) 237,000 607,000 370,000

= cy3a e 237,000 607,000 370,000

STV JIBAL 5 237,000 607,000 370,000

201 L2 Y| 5,000 5,000 0

01 Ak 22l Hl 5,000 5,000 0
OB A3 =29 5,000

202 ofH 8,500 2,000 6,500

01 2UHoiHI 8,500 2,000 6,500
zHpe YRFH 8,500

401 Al EHI L2 23,500 0 23,500

01 Al 23,500 0 23,500
O=YBHHMMANSY TRUL orE B 23,500

403 XSS KHZO0IR 200,000 600,000 400,000

01 RS 2L T 200,000 600,000 400,000
OZYIR JIPAL =5 2 Iy 200,000

SUNARAX E&(HZSS/XS) 104,437 104,437 0

NOHASHES s 104,437 29,219 75,218

THABMX 2 - 2o 104,437 10,600 93,837

308 XXM SOI ® 104,437 0 104,437

01 HXISHYL TS 104,437 0 104,437
OSYRY XHBAX 22l 104,437

HHSAZHI(BZFZHI)(OIEH/IIEH) 378,120 71,777 306,343
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XH
SZHI(S82F A (OIEH/IIE)
g

B
0

ol 2| 259,080 3,600 255,480
S2& odd X& 259,080 3,600 255,480
204 M4 AH| 259,080 3,600 255,480
02 222 x4 259,080 3,600 255,480
©3= 500,000 *1E*12& 6,000
©4= 400,000 x5 128 24,000
o052 250,000 «26H 122 78,000
©6= 155,0003 x32E *12& 59,520
Q7= 140,0003 «37E 128 62,160
08-93 105,000 x19E *12& 23,940
O M 155,000 1 +12& 1,860
oszEEH 300,000 x1E*12& 3,600
Jl=3dl 119,040 68,177 50,863
2A29Y Jl2d 119,040 68,177 50,863
201 22| 45,000 43,077 1,923
01 AR 2218l 42,000 40,917 1,083
ORAN2ZE ARZcll 42,000
02 3329l 3,000 2,160 840
ORAN2E 324 3,000
202 044l 14,400 14,400 0
01 =W ol 14,400 14,400 0
ORM2Y =0 14,400
203 YR = 27,240 0 27,240
01 | 22EHRFaH| 6,000 0 6,000
o=% 6,000,000& 6,000
04 BEA2YRFAH| 21,240 0 21,240
©31¢! 0l & 370,000 =174 D= 12& 4,440
©302! 0I5t 350,000& +4JH Dt =123 16,800
204 Z R =AY 32,400 4,200 28,200
01 ZAZ AR+ 32,400 4,200 28,200
o=% 600,000& » 1« 128 7,200
o 350,000 x5 »12& 21,000
ogdz 350,000& » 1« 128 4,200
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